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2006 2007 2008

P Q P Q P Q
$30 | 900 | $31 | 1,000 | $36 | 1,050
$100 | 192 | $102 | 200 | $100 | 205

¢ oslY) 4 & 2006



PIB nominal (PIB] ) Aiudl (uil jlaul b ciluas)) o juial
2006: S46,200 =$30x%900 + $100 x 192
2007:  $51,400
2008: $58,300

PIB réel (PIB/"* ) 2006 csbed) i jlas) A ciliasl) o
2006: $46,200
2007: $50,000
2008: $52,000 = $30 x 1050 + $100 x 205



PIB" |PIB]"* | Déflateur | Inflation | croissance
2006 | 46,200 | 46,200 S e
2007 | 51,400 | 50,000
2008 | 58,300 | 52,000
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Inflation

Croissance

PIB"  |PIB]"**| Déflateur % .
(4 (4

2006 | 46,200 | 46,200 100.0 — —
~

2007 | 51,400 | 50,000 102.8 _N\2.8 % 8.22 %
N
I~

2008 | 58,300 | 52,000 112.11 | 9.05 % 4 %
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— TABLE The CPI:
A Simp|ified Calculation

{2 ‘y\ a8 5” Loyl ! ow dleata) — (a) The cost of the CPI basket at base-period

prices: 2008

_(:GNA) :\.AJ.A 9 (d\.ﬁjﬁ) :\.z.L.u CPI basket

Cost of
s . - " Item Quantity Price CPI Basket
YW 0 10 o pidigall Al oy ST — $ $
- Oranges 10 1.00 10
TN -
ﬁb L_i“)A 5 3 Haircuts 5 $8.00 $40

s GA J\z..u:‘j\ d} J;l\ i — Cost of CPI basket at base-period prices
2008 oY)
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— TABLE The CPI:

A Simp|ified Calculation

(a) The cost of the CPI basket at base-period

prices: 2008
CPI basket Cost of
Item Quantity Price CPI Basket
Oranges 10 $1.00 $10
Haircuts S $8.00 $40
Cost of CPI basket at base-period prices $50

(b) The cost of the CPI basket at current-period

prices: 2009
CPI basket Cost of
Item Quantity Price CPI Basket
Oranges 10 $2.00 $20
Haircuts 5 $10.00 $50

Cost of CPI basket at current-period prices

L 4
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IPC Base 2008 _ 2(P2009 X Q2008) % 100

2009 - 2. (P2008 X Q2008)

_(10><2+5><10)x100_70)(100_140
~ (10x1+5x%8) 50 B

2009 Lss 140 2] 2008 olus¥ &is (3100 (IS G sla¥ ydiga —
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Basket contains 20 pizzas and 10 compact discs.

prices:

2002
2003
2004
2005

o1 O O1 O

For each year, compute:

"1
"1
1
=1
1

ne cost of the basket

ne CPI (use 2002 as
ne base year)

ne inflation rate from

ne preceding year



Answers:

Cost of Inflation

basket CPI rate
2002 350 100.0 n.a.
2003 370 105.7 5.7%
2004 400 114.3 8.1%
2005 410 117.1 2.5%



Déflateur du PIB s IPC O 438

Hdr Y cL.J\ o
Ak ol Lo 13 ) sl LSS Jolne gaaay-

Indice de Laspeyres : IPC = Z%(:g)xféb)) :5:)3:....1\ 2.;7\.@:“‘»?\ C’L"J‘ )\a..ci
Il St 530 Lgraiane

Indice de Paasche : Deflateur du PIB = —Z(PXQ) g!&‘ @w‘ u"‘“&-" J"’\""’ o olicius o
> (P xQ) b ik

IPC g ixte

Déflateur du PIB ¢ i S pase

D P(F) poid 8yl ol ) 0301
. P(P) b dyde 9 P(L) ped ey ol @B e ST coidl Lawgll gag

P(F) = \'P(L).P(P) = 100



Rate of inﬂation:PtI;Pt‘1 *100= & %
t-1

P = IPC s Déflateur du PIB

14 —
12 —
Inflation rate using
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The Unemployment Rate At Jdas Taux de Chomage

Les révélations de I'INSERM I-WJSX_E CONX‘['AN’TE Du CHGMAGE
EN FRANCE, LE CHOMAGE TUE 5 FOIS PLUS
QUE LES ACCIDENTS DE LA ROUTE

B 1 AT 3 - e




The Unemployment Rate 4! Jdas Taux de Chémage
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nurﬁnber unemployed (U)
Unemployment Rate (u) =
labor force (L)
Labor Force (L) =employed (N) + unemployed(U)
labor force (L)

Participation Rate = ,
adult population (16+)
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